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51. Choose the correct option for the underlined word:

Last Sunday we went to the zoo.
(1) eo
(2) will have gone
(3), no improvement
(4) gone

52. Choose the correct option:
When a king dies, his son is the ____to the throne.

(1) air

(2} hear
(3) heir
(4) hair
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53, Fili
3.  Fillin the blank with the correct option:

Neither of the two books
(1) were
(2) has
(;) was
4) did
54. Fill in the blank with appropriate article:
Men fear death.

(1), the
2 a
(3 an
(4) no article

5. He looked after the children well.
Which of the following is correct

(1) The children will be look after well. ¥

passive voice?

(2) Look after the children well.

(3)/ The children were well looked after.

4) Well looked after were the children.

56. Choose the option where the prefix Mis __

(1) Misdeed
(2) Mislead
(3) Misjudge
(4) Misez

57. Which of the following option is a synonym of ‘Brisk’?

(1) Quick

(2) Reflecting
(3) Corroding
(4) Reconcile

found useful.

is wrongly used.

[CG-20]
12
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58.  Fill in the blank with the correct form of the vegp
r

The company —— money recently.

(1), has been losing
(2) hadlose
(3) willlost
(4) have been lost

59. A diplomati . .
plomatic representative of the highest order sent by one country to another is called :

(1} Anarchist
(2) Ambassador
(3)  Alienist
(4) Theist

60. Choose the correct meaning of the Italicised Idiom.

That young fellow was born with a silver spoon in his mouth.

(1)f Born in wealth and luxury.

) To be very active.

(3) Refused to yield.

(4) Have a spoon in mouth when born.

61. Choose the correct meaning of the Italicised Idiom.
They are at daggers drawn:
(1) Strained relations

(2) Friendship
(3) Friendly with each other
(4) Helpful to each other
62. Fill in the blank with correct option. |

He gave a lot of good '
(1) advice

@), advise

(3) advices

e el e i LA

(4) None of the above

e

ki e



63. Select the best option to fill in the blank.

The letter have arrived by now
(1) could
(2), would
(3) should
(4) will
he options

64. TFill in the correct tense choosing from t

Ajay ___to Gurgaon last week 10V

(1) |has driven
) drove

3 drived

4) will drive”

65. Helikes people to call him Sir.
from the options:

Select the passive voice
(1)/ He likes Sir to be called by people.
(2) Helikesto be called Sir.

3) People like him to call Sir.
(4) None of the above

66.  Fill in the blank using the correct phrasal verb.

(1) acceded to

2) acceded by
(3) acceded at

(4) acceded on

67. Everyone knows Subhash Bose.

(1) 'Who knows Subhash Bose?

(2)/ Subhash Bose is known to everyone?
(3) Who does not know Subhash Bose?
(4) None of the above

isit his parents.

The management the demands of the workers.

Choose the correct interogative form of the above senten
ce:

i | [CG-20]
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68. Fill in the blank with the correct preposition
I thought you would be late dinner

(1)/ for

(2) at
(3) on
(4) will
69. Fill in the blank with correct preposition.
The Principal called _____ the names of the candidates who had passed.
(1) out
@ on
(;)' at
@) for
70. Choose the closest antonym of:
‘APPARENT’
(1), visible
(2) clear

(3) pure
4) hidden

71. ‘Cartography’ is the science of drawing.
Choose the closest meaning of the Italicised word.

(1) Maps

(2), Isotherms
A3) Isobars

(4) Village life scenes

72. Select the right prefix:
‘ENTITY’
B~ Post
(2) Non
(3) Anti

4) Bi

M«v
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73. Select the word closest in meaning from e &

‘DISTINCT’
(1) Distrail
(2) Discreet
(3) Desecrate
(4), Discrete

. ‘n .
74. Select the phrasel verb closest tO their meaning
‘INVESTIGATE’

(1) Look out
(2) Lookon
(3)» Lookinto
(4) Lookin

om call
75. Sentence has been broken up into four parts. Choose the part which is grammatically
meaningfully WRONG.

(1) He told me that
(2), if he had time

k. R

(3) he will be visiting

(4) his family and friends

76. Unless he the work to my satisfaction, I shall not pay him for it.
Fill in the blank choosing the correct tense form:

(12, had done
(2) didn’tdo
i (3) hasdone
2: (4X will doing
77. Let the lights be switched on now.

| Choose the correct passive of the above sentence:

(1) Switched on the lights then.
& Let switched on the lights now.
3) Switch on the lights now.
(4) Switch be the lights now.

[CG-20] 16
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78. How lucky I am to have a friend like you!”
Choose the correct indirect form:

(1)  She said how lucky she is to be my friend.

(2)~ She exclaimed that she was lucky to have a friend like me.

(3)  She said in great wonder that I was a lucky friend.

(4) She said in exclaimation that how wonderful her luck was.

79. None but the brave deserve to be honoured.
Change in affirmative sentence:
(1) Only those braves deserve to be honoured.
(2) Only those who are brave were honoured.
(3)/ Only the brave deserve to be honoured.

(4) Not only the brave deserve to be honoured.

80. Do you have time to complete assignment by next week?

Use the appropriate determiner:

(1) many
(2) most
3) little

(4)/‘ enough
81. Choose the closest meaning of:
‘“VITIATE’
(1) Ventilate
(2) Edit
(3) Dignify
(4) Corrupt

82. Choose the closest meaning of:
| S\ ‘ARBITRARY’

= ?:j';;:;,gf" (1) Reasoned
(2) Skeptical
(3) Irrational

(4)/ Consistent

1CG.20)
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83.  Choose the word which can be a substitute

; dispute-
A person appointed by two parties t0 solve @
(1) Compere

(2) Auditor
(3), Arbitrator

(4) TInsolvent

84.  Choose the prefix that meaningfully complete the sentence-hildren were really hungry,
All the food qui ckly___ appeared from the table as the ¢
1) wn_
(p/ dis__
@) re_
@) de_
85.  Choose the option that meaningfully complete the sentence:
The information was ____so that no one knew what actually happened.
(1) censored
(2) censured
(3) sensored
(4)- ensured
86. Choose the correct meaning of the Italicised Idiom.,
She had given up all hope when out of the biue she got a call from one of the most sough
universities.
(1) With God’s grace
(2) Helped by her peers
A3 / From a distant connection
(4)  Unexpectedly
87. Pick the correct Sentence from the optiong given.
(1) The justice of a country uses the threat of punishment to contro] people
(2) A country’s legal System uses the threat of Punishment to contro] people
(3) The legal system threatens 3 country’s people with Punishment
(4) To provide justice Punishment ig ugeq 1 control people,
(CG-20)

_
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88. Fillin
th :
rakash PPropriate option:

(1) had play
(2)~ had been playing
(3) had played

(4) had been played

89.  The passi
y passive "
sentence for: “T want everybody to understand this”.

1) 1 i

( ‘)/ want this to be understood by everybody.
(2) Iwant this understood by everybody.

(3) I'want this to understand by everybody.

(4) Iwanttobe understand by everybody.

90. “Hello, Jim, I didn’t expect to see you today. Sonia said you i1,

Fill in the blank with correct option:
(1), are
(2) was
(3) were
@) should be

91. O thatIhad wings!
Which of the following is the correct assertive of above?

(1) How I wish I had wings. -
2) I wished that I had wings.
3), I wish I had wings-

(4) Had 1 but wings.

a cup of tea.

92. They had achat __—
e blank:

Pick the correct option t0 fill in th

(1) over
(2) at
(3) above
(‘D’ on

tennis f
or an ho
ur when the news of his selection came in.

/9
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93. India won the match by three goals.

Pick the correct option to fill in the blank:

(1) has
(2) have
(3), had
(4) was
94. The word Priest___ can have wh
(1) _dom
(2) __hood
(3), ___able

(4) None of the above

95, Fill in the blank
They said goodbye with great sad

again.
1)y ___ness
2) —b
3) ___den
4) __der

96. Complete the s

Any irregularity in the working of the institu

institution.
(1) test

), examine
3) investigation

@ interrogation

97. Choose the antonym of:
‘CONTRARY’

(Iy In agreement
2) Equal

(3) Same
4) Undccided

ich of the following su

with correct suffix from the op

because they knew they

entence by choosing the most appropriate word from the option

tion should be subjected to

would probably never meet

given.
by the head of the

e —

// 20
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Choos® the antonym of':
9% XPUNGE’

(1) Remove
(2) Exhaust

(3) Insert
4) Deplete

A killing of one person by the other is called:
9. @ Ominous

) Homogenize
(3)/ Homicide
(4) Hominid
100. Fill in the blank with correct option,

Ifyou _____ your passport you must call the Embassy.

(1) loose
(2) lose
(3) loss
4)- lost |
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1) SEER
2) =8 fi=h
(3) SEgR
4) SER
102. 5 ey ¥ Rerr Teifeal @ Fedt & -
1) frar
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